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1. Answer the following questions as directed : 1x8=8

e ol ForERIE bea s ¢

(@)

(b)

()

(@)

(e)

(g)

(b

Is the set A={x|x<x} a null set ?

_{x|x<x) @2 B e wefr

10
Rl ‘:0, find x.
2 4
5x 10
af |°F | =0, x fefa =t

What is the difference between permutation and combination ?

B @ STRIGE A 2

The marks scored by 7 students are —

7 T HE-REIN TR e —

40, 42, 38, 45, 50, 52, 55
Find Median.
sggs Fefa @i

Write True or False :

- am JEeE @l 8

AM. £ G.M. < HM.
AL N <@E‘ﬂ?ﬁ$ﬂ*ﬂ < 29 SN |

What is the S.D. of two values 8 and 4 ?
8 «R2 4-a7 e Rpfe T F2

What do you mean by combination ?
R FECe H @R ?

Fill in the blank :

#ZH e T 5

AN(BUC)=(ANB) _____ (ANC)
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2. Answer the following questions in brief : 2x5=10

R emefrm HRewel Tea @l ¢

(@) Disﬁnguish between {0}, ¢ and {4}
{0}, p &R {¢}-= =iidm Ro" A

(b) Find ‘w, if 2°Cy: "C, =44:3.

o efa @, 1 3Gy "Cy=44:3

() In what time will Rs.2100 amount to Rs.2835 at 10% p.a. S.I.?

O T AHART 10% e 7w 2100 Bl (AP 2835 BikFl 232
(d) Using the property of determinant, prove that

O3S
b )
Zuitnlg

eftace 4l el 3 e Al @,

0: %3 5
a0 o =04
L5.-2 -0

(e) Meritio_n two advantages and fwo disadvantages of A.M.
TR A 710 JRU R 75 e[ T @ |

3. The difference in simple interest on Rs.1450 at 5% p.a. and on

Rs.1250 at the same rate for the same time is Rs.135. Find the
time. 3

QAR 5% A T 1450 DIV T I €KL T 7 <R T TG TN
1250 BIPR e O A 135 B0l | FFE Fefm e

4. Find ‘n’ and ‘r’, if — r 3

‘W GRR r-aA W R ), W —
nPr = 1680, ncr =70
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If (W)
U={2,3,5,7,11,13},
A={5,7,13},
B={3,7,11,13},
show that (78 (X)

(AUBY =A°NB° _ 3
If (3f)

it 7 e =3
Pl o waigl

ey
I
(51 | 2]’

find (e T570)
=iy e S : g
OR [ &34

Find x’ and ‘y’, if
X’ SRR ‘y’~aa e el e, 9

iR 181 '
X +y 8
-2 2 6 A ,
Calculate mean deviation from mean from the given data : 3

fceie wiAE A T (& e [pfe W e e
6, 9, 12, 15, 18

A man deposits Rs.1200 in a bank at the end of each year @ 5%
p.a. C.I. What would be his deposit after 15 years ? 5
(Given (1:05)!° = 2-0789) -

T (I G I 2w TR A AT 5% bergfa 0 1200 Bt &l
I, 15 T 77 OF Tl 47 T A2 (el SR (1-05)1° = 2:0789)
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10.

1518

L2

A certain sum of money at a certain rate compounded annually

~amount to Rs.8820 in 2 years and Rs.9261 in 3 years. Find the

rate of interest and the principal. S

mwmaﬁﬁﬁmmﬁﬁmﬁmzwswomm 3 TR 9261
W’iﬂlﬁmﬁ?ﬁ@\ﬂﬁﬁ?{ﬁ‘ﬁWI

Draw the graph of : (any one) 5
T SFS S & (T (e GFB) '

(l} x+2y—2020
3x+y-12<0

() 3y-2x<6
X+Yy>95
xX+2y>4
y<4

‘ 9
a
In the expansion (xQ —;) , the term free from x is 5376. Find the

value of ‘@’ _ 5

a

9 ,
(xg —;) RIE x-R Wb =1 5376 | ‘a~ga T Fefa |

In a meeting, after everyone had shaken hands with everyone else,
it was found that 105 handshakes were exchanged. How many
persons were present at the meeting ? )

G ASF AT LTSI A FTW [ 2/ (TR 5le1 (F, 105 IR T
AR | OIS GG IS FooH 27 2

OR [/ G2l
A box contains 6 white, 4 red and 7 green balls. In how many ways
can you draw — 5
(i) 4 white and 3 red
(i) 3 balls of the same colour ?
G0 AT 6 1 AW, 4 [ 511 @R 7 [ IS 61 W0R | T Tl ©ffl BiFrs 2HeE —
() 4 A @R 3 T =it I

(i) 3 <2 A& =72
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13. ‘If @) flx)=x* +7x+12

find f(A)
f(A)- a7 fefa e |
when (J3)
A AR

A QR = 1 ' 5 -

S I R |
OR [ &34l

Solve using Cramer’s Rule : L , 5

(TR s R T T Al 8
3x+y+2z=3
2x—-3y—-z=-3
x+2y+z=4

prove that (Eﬁﬁ‘f FE @)
AU(BNC)=(AUB)N(AUC). 2
OR [ 523l

In a class of 50 students, 24 students have taken Adv. Maths, 16
have taken Adv. Maths but not Geography. Find the no. of students
who have taken both Adv. Maths and Geography. 5
il T 50 & IE-TER T 24 T Tweifie R, 16 & Twas Ree 7

Sl G| TS R gl b R e, e GRS Wi ket e el

15. (@) The A.M.and H.M, of two numbers are 10 and 6-4 respectively.

Find the numbers and their G.M. 4

5 RIS TG T R TGS 2 TG 10 m\smﬂm‘iﬁaﬂm
SR el ey e e |
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(b) Find the median of the following data : ' e
HeRie wrdE sl [ et ¢
Class : 101-200 201- 300 301-400 401-500 501-600 601-700
T 8 |
Frequency : 8 10 15 6 3 e )
SR 8 '

. Calculate standard deviation and coefficient of variation from the
following data : 4+4=8
RIS O (A NTPRO G2 2R @eiF [efar Tt 8
Class (Cﬂ‘?[] ] - 0-6 6-12 12-18 1824 24-30 30-36
Frequency (f@aq) : 12 24 38 5285 34 19

(@) A bag contains 10 white, 6 red, 4 black and 7 blue balls. 5

balls are drawn ra_ndomly What is the probability that 2 of
them are red and 1 is black ? 4

<« AfEce 10 B AR, 6 © o, 4 © S0 @R 7 § 5 36 Siwl O

cwsﬁmmammmmlz 0 =157 @=R 1 T%zﬁm
T 28TM B[Sl o ? '
(b) What is the probability that a leap year selected at random

will contain 53 Sundays ? 4
- PRI A GEIGIETSIE m&mmﬁwﬁaﬁa 53 o IR “heam
TSRO T ? |
OR [/ 92«
State the mathematical definition of probability. What are its
limitations ? ' 4

ARTOR ANifdfes ke @l an srRgek H Hie

18. (a) What are the different types of correlation ? 2

A [fen @el Fit e

(b) Calculate Karl Pearson’s correlation coefficient from the
following data : 6

ArRe w2 CWW@WW@‘W Refa st ¢

XL s 2 6 8 10 14 16: 1720
y: T S 4 S i/ 8 10

X
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